
Important Assertion/Reason Questions of History

Find the correct option
These previously asked questions can help you prepare for Assertion/Reason questions and improve
your scores in this section.

History

The Rise of Nationalism in Europe : Chapter 1
Nationalism in India : Chapter 2
The Making of a Global World : Chapter 3
The Age of Industrialization : Chapter 4
Print Culture and the Modern World : Chapter 5

Mark the correct option.

Q.1 Assertion : Italy was divided into seven states, of which only one was ruled by an Italian princely
house.

Reason : The north was under the domination of the Bourbon kings of Spain.

a. Both assertion and reason are true and reason is the correct explanation of assertion.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.

c. Assertion is true but reason is false.

d. Both assertion and reason are false.

Q.2 Assertion : King Victor Emmanuel II tried to unify the Italian states through war.

Reason : In the eyes of the ruling elites of this region, a united Italy offered them the possibility of
economic development and political dominance.

a. Both assertion and reason are true and the reason is the correct explanation of assertion.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.

c. Assertion is true but reason is false.

d. Both assertion and reason are false.
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Q.3 Assertion : The most serious source of nationalists tension in Europe after 1871 was the area
called the Balkans.

Reason : The rebellious nationalists in the Balkans thought of their struggles as attempts to win back
their long-last independence.

a. Both assertion and reason are true and reason is the correct explanation of assertion.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.

c. Assertion is true but reason is false.

d. Both assertion and reason are false.

Q.4 Assertion : The growth of revolutionary nationalism in Europe sparked of a struggle for
independence among-st the Greeks which began in 1821.

Reason : Greece was suffering under subjugation of the Ottoman Empire.

a. Both assertion and reason are true and reason is the correct explanation of assertion.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.

c. Assertion is true but reason is false.

d. Both assertion and reason are false.

Q.5 Assertion: The new reading culture was accompanied by a new technology.

Reason: From hand printing there was a gradual shift to mechanical printing.

a. Both assertion and reason are true and reason is the correct explanation of assertion.

b. Both assertion and reason are true but the reason is not the correct explanation of assertion.

c. Assertion is true but reason is false.

d. Both assertion and reason are false.
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